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#£1 A PICDREIZHOVTWDEHD

brake(; //{%1k

break;

case 8: //AOMEXTER XFHH X
go_straight(501); //Fiid
break;

case 15: //AOEOLBOEHO
spinleft(10);  //ZElZ[Aldin
break;

PIC1 vr1 —

PIC1 vr2 —

PIC1 tv3 —

PIC1 vv5 — trv—4 (15
PIC1 t>6 - o9 —3 (A)
PIC1 t>7 - o —2 (H:/D)
PIC1 b8 — rh—1 (B)
PIC1 v»13 — PIC2 RA1
PIC1 vr 14 — PIC2 RB7
PIC1 tvr17 - EEM 2-1(E2)
PIC1 t>18 - EM 2-2 ()
PIC1 t>19 - EGEM 1-1CH2)
PIC1 t>20 - EIEM 1-2(62)
PIC2 RB3 — YP—R M 1 EE )
PIC2 RB4 — P—R M 2 FEA)
PIC2 RB5 — P—R M 3 (F=4)
PIC2 RB6 — F—AR M4 (F)
PIC2 RA1 — PIC1 vr13
PIC2 RB7 — PIC1 vr14
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~AZ—PIC 7025 L0—E;

switch(get_sensor(){

case 0:

case 1:

case 7:

//AXPEXFEERXHEH X
turn left(50D;  //ZEIZED
break;

//AXEXEEXAEBO
turn_right(50D);  //A1Z[E1D
break;

//AXEOLROLEHO
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(=) B | BR:A | G5 (BEYERITD) (HOFEBLMNITD)
0 0 0 0 0 BEHYRAICTA>TEA OFF
1 0 0 0 1 BEHYERAICTH>TEN OFF
2 0 0 1 0 BEHYRAICTA>TEA OFF
3 0 0 1 1 BEHYRAICTH>TEN OFF
4 0 1 0 0 BEHYRAICTH>TEA OFF
5 0 1 0 1 BEHYRAICTH>TEN OFF
6 0 1 1 0 BEHYRAIZTA>TEN OFF
7 0 1 1 1 TEITITELFY OFF
8 1 0 0 0 DEX B TPS OFF
9 1 0 0 1 EICEENHYBEEELTRENOLNE~Q BRIBALELEME2~) | JARAEITBEEA~
10| 1 0 1 0 BICEENHYEEZAL TEEROLVA~Q ARZIBALELEE2~) | RAEAEITBEBEA
11 1 0 1 1 EEICRENHYEEZEL CTEEROLNA~Q BRZIEALI-SEME 2 ~) xR BYRTHE
12 1 1 0 0 TIZEEMHYE~ OFF
13 1 1 0 1 TEEICEEMHYEZRIL TEENOLGLAA OFF
14 1 1 1 0 TERICEEMHYEZRIL TEENOLGLAA OFF
15 1 1 1 1 TEERICEENHYELZELTESYDORNAA OFF
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3 0 0 1 1 30° EIF3 i e
4 0 1 0 0 60° LIF% FC tu
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11 1 0 1 1 90° k&4H 60° £ 60° £ =it =it
12 1 1 0 0 15° £F 15° I3 =it =it
13 1 1 0 1 90° E£H =1k =1k
14 1 1 1 0 90° &£H =ik =ik
15 1 1 1 1 90° £H 90° tTF 90° +F =ik =ik







